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temp=nn(i,:);

temp(temp==0)=[];

net = newff(xtr',ytr',temp);

net = init(net);
net.trainParam.epochs =1000;
net.divideParam.testRatio=0;
net.divideParam.valRatio=0;
net.trainParam.Ir = 0.01;
net.trainParam.min_grad=.000001;
net = train(net,xtr',ytr');

nety = sim(net,xtr");

nety=nety";
mean(sum(((abs(nety-ytr)).*2),2))
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) 1 1 1
A -1 -1 1
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¢ 0 0 -1.68179
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‘1 0 0 0
‘v 1.681793 0 0
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Term Coef SE Coef T P
Constant 1.09919 0.07732 14.216 0.000

X4 0.22303 0.05130 4.347 0.001
X5 0.22303 0.05130 4.347 0.001
X6 0.22303 0.05130 4.347 0.001
X4*X4 -0.14095 0.04994 -2.822 0.018
X5*X5 -0.14095 0.04994 -2.822 0.018
X6*X6 -0.14095 0.04994 -2.822 0.018
X4*X5 -0.00000 0.06703 -0.000 1.000
X4*X6 -0.00000 0.06703 -0.000 1.000
X5*X6 -0.00000 0.06703 -0.000 1.000

o paSuie O =2/+0 3,5 L > g P-value yolie 4 455 b
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D | Seq Adj Adj
Source £ sS s MS F P
Regressi 9 2.7545 | 2.7545 | 0.3060 8.5 0.00
on 1 1 56 ' 1
Linear 3 2.0379 | 2.0379 | 0.6793 | 18.9 | 0.00
2 2 06 0 0
0.7165 | 0.7165 | 0.2388 0.01
Square 3 9 9 63 6.65 0
Interacti 0.0000 | 0.0000 | 0.0000 1.00
on 3 0 0 0 0.00 0
Residual 10 0.3594 | 0.3594 | 0.0359
Error 2 2 42
Lack-of- 5 0.3594 | 0.3594 | 0.0718 * -
Fit 2 2 85
Pure 5 0.000 | 0.000 | 0.000
Error 00 00 00
Total 19 31; 39
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i, o] X4 X5 X6 Y2
\ 8 1 1 1 1.1
Y 5 -1 -1 1 0.272727
v 18 0 0 0 11
\d 13 0 0 -1.68 0.272727
) 6 1 -1 1 1.1
# 3 -1 1 -1 0.272727
v 4 1 1 -1 1.1
A 1 -1 -1 -1 0.272727
q 2 1 -1 -1 0.272727
' 19 0 0 0 1.1
1 20 0 0 0 1.1
X 16 0 0 0 1.1
'y 14 0 0 1.68 1.1
VE 9 -1.68 0 0 0.272727
10 1 0 -1.68 0 0.272727
V¢ 17 0 0 0 1.1
XY 10 1.68 0 0 1.1
YA 15 0 0 0 1.1
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Y. 7 -1 1 1 1.1
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¥2=1.099+0.223*X4+0.223*X5+0.223*X6-
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Max : Z=1.099+0.223*X4+0.223*X5+0.223*X6-
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Obs Y2 Fit SE Fit | Residual St
Resid
1 1.100 1.345 | 0.155 -0.245 -2.25R
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